


REAR BODY TRIM

ITEM PART NO. DESCRIPTION QTY
123 4
1 1013983 Bumper, Side Trim 2
2 1017079 Kit, Rear Bumper (includes items 3 through 8) 1
3 1011697 Washer, 5/16 Flat 6
4 1016379 Bumper, Rear 1
5 1016874 Plate, Bumper Mounting, Short 2
6 1016875 Plate, Bumper Mounting, Long 1
7 1016876 Bolt, 3/8 Shoulder 4
8 7473 Locknut, 5/16-18 Nylon Insert 4
9 102221201 Wear Pad ... 2
10 102310701 Screw, #8-18 X 0.375, HeX-HEad WaSNET ... eeeeeereeeeeeriseesesessesessvssssesessssessnns 8

Note: Item 5 not used in this application.

2009-2011 DS Golf Cars lllustrated Parts List Page 1-5



